T

BAC BAC

BRACKETT AIRCRAFT CO., INC. ,

7045 FLIGHTLINE DR.
KINGMAN, AZ 86401
928-757-4005
@ BRACKETTAIRCRAFT.COM

°

HT-65A
ITEM | QTY PART NUMBER DESCRIPTION
1 1 1 HT65-01-00 YOKE
2 1 HT65-02-00 CENTER ASM.
3 1 HT65-04-00 LEVER
4 1 HT65A-03-00 TONGUE TUBE
5 2 |HT65-01-07 CABLE ASM.
6 1 HT65A-01-01L END PIECE LEFT
7 1 HT65A-01-01R END PIECE RIGHT
8 2 |HT65A-01-06 HOOK
9 1 HT65A-07 SHOCK RING
10 4 |5/16 LOCK WASHER
11 3  |MCM35355T13 SHACKLE
12 2 |F-81 SPRING
13 2  13/16 X1 CLEVIS PIN
14 10 |1/4-20 X 1 S.S. BUTTON HEAD CAP SCREW
15 10  1/4-20 NUT INSERT JAM
16 4 |5/16-18 X 1 BOLT
17 2 |CL-8-BLPL-3.00-C BALL LOCK
18 1 1/4-20 X 4 Hex Cap Screw
1? 1 ‘ 1/4-29 i Hex Nuts@ (Inch Sqries) Hexj Nut




